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tV Semester B.Gom. Examination, September/October 2023

(NEP - Freshers)
COMMERCE

Paper - 4.1 : Advanced corporate Accounting

Time : 2/z Hours Max. Marks : 60

lnstruction : Answer should be written ampletely in English or Kannada.

SECTION _ A

aqrad - o

1. Answer any 5 sub-questions. Each sub-question carries 2 marks. (5x2=10)

ob$aaddo 5 erod-€,d4?19ii erudotu. {,9 wd-{,dnzl 2 erodrlsb.

a) Who is a Liquidator ?

ai6rd"Qrr0 aod: obdi31 ddoJDard ?

b) Give the meaning of internal reconstruction.

uodod $dddzida3.rodde$ r

c) Distinguish between amalgamation and internal reconstruction.

ao&eddsa d:d: erodod dJdJ&draFradd.a&d dd6od, g9&.

d) What is meant by valuation of shares ?

ded>rl9 dPOreddro aodded> ?

e) State the different types of Amalgamation.

iooloexdo$ eed zJriil$dl .99&.

f) What is meant by purchase consideration ?
OoeO ?.JcJ aodded> ?

g) Given closing capital employed in Rs. 5,00,000 and Net Profit for the current
year is Rs. 2,25,OOO. What is the average capital employed ?

t^ld,ldlaoBd)d ero8d) uoda"d dn. 5,00,090 d:q {,xbd ddrd D{S enqJ

dJa. 2,25,000. iorio uoddJgd$ dod:baog:0.

P.T.O.
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SECTION - B

AqDrl - ?)

Answer any three questions. Each question carries 4 marks. (3x4=12)

obdloaddn &Jo& {,d4rled erudotu. e,e 4,ddri 4 erodrlct.

2. From the following details, calculate liquidators remuneration.

a) Balance of cash after payment to Preferential creditors Rs. 4,10,000.

b) Other unsecured creditors Rs. 5,00,000.

c) Liquidators remuneration 5% on the amount paid to other unsecured
creditors. Also state the amount paid to unsecured creditors.

d9fld eddrlgod OiaFdd BoqlDddoiJdtr dod:b6ou0.

a) udroa raOrlori ead,9,sld dodd eru9d dtid: Ae.:1 do. 4,10,000.

b) .add eqJDd dbd xaOrld: dro. 5,00,000.

c) Oiardd Boqadd.add upd d&d sDOrlod md.9&d do{d dedoa sddlaazfo

upad ded saOdori dodtJeaod doQdd:n dod;bao0lO.

3. Given below in the Balance Sheet of NDLA Ltd. as on 31-03-2023.

Liabilities

5,000, 8% Pref. Shares of

Rs. 10 each

5,000 Equi$ Shares of

Rs. 10 each

Creditors

Bank overdraft

Amt. Assets
Rs.

50,000

50,000

18,000

20,000

Goodwill

Buildings

Plant

Debtors

Stock

Preliminary Exps.

Prolit and Loss A'lc

Cash

Amt.
Rs.

1,00,000

4,000

5,000
't,200

22,O00

3,000

2,500

300

1,38,0001,3g,ooo
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The following scheme of reconstruction was adopted.

a) Rs. 't0 Pref. Shares were to be reduced to an equal number of fully paid
shares of Rs. 8 each.

b) Rs. 10 Equity Shares were to be reduced to an equal number of fully paid
shares of Rs. 5 each.

c) Creditors agree to forego Rs. 8,000.
d) The amount available was to be utilised to write off nominal assets and the

balance if any to be written off goodwill.

Pass Journal Entries.

NDLA Otuu366 aou dod0o$ e6ad dgd ooDod 31-03-2023d0d: dSdodod qd.

p-.- al)..arq)c^JOq,,O 1,,/I lt\, drod st)d$c()

SeBrdPer.

d[Jddq)

a
derdeodd:

agdoq:d dqfs
enci-d{aDd
..JI lG.lJ

c^]JO9

dro.

1,00,000

4,000

5,000

1,200

22,000

3,000

2,500

300

1,38,000

5,000, 8% udrd ded;rl*1:

d,e deori drD. 10

5,000 FEdDdd ded:d$.:

€,.3 d(ori dJa. 10

\-/\ a cr' L\,rar\J \-1J

?^TJd od FoQ

50,000

50,000

18,000

20,000

1,38,000

dod0o3: sodod d)dd &drrFsado.n dddod oJoeado$dtr c9datudooad.

a) udrdob dBrar 6Dd,3Ad drD. 10 il)sD ?,JeJo$di dpsaF a?dgtud df,o. 8dd

a 6q-,1\ <). <r -'c(Y^ ,qJqlJ.

b) rad>d, dedrzl$: QBrar E)d.gtud dDED deiot do. 10dtr -'aJDsaraDdetud

dra.sdr.a9xbdd.

c) eJerdendd: d$ii r.D3 nd:d deado_dro. 8,000ddi dO-gddrload.

d) dOd e:ldddJ4 dodpraFa"R doddcaadcaldc aarlo erued drodddc4

Ee.gF dPoe,ddtr dodd:aader: u9${d:.
doea: oa$eJod:di Ddc$o.
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9,000, 10% Pref. shares of Rs. | 00 each Rs. 9,00,000

10,000 Equity shares of Bs. 100 each Rs. 10,00,000

Average Profit before tax Rs. 7,50,000

Rate of lax 4Oo/"

Transfer to General Reserve 20%

Normal rate of return 15%

Ascertain the value of Equity shares under yield method

dddod BorlSrlS: ddaf Otuu366 aou ioiri iouoQsrd.

d/0. 100d dD$ zidob 9,000, 10% udrco ded:ilsb drd. 9,00,000.

dra. 100d $J$z3do$ 10,000 md>d, ded:rlcb dro. 10,00,000.

dori il)q noiio eErJ dro. 7,50,000

dorl dd 40%

md>d, OQri drorobiaJeaadd: 20%

aa6adea e>{ dd 15%

*9,{ a pnSa o d roatn d, d e d: dd dP c.r, dd1 d o d:& A o3) o.

5. A Ltd. is taken over by H Ltd. on the following terms.

a) The assets and liabilities of 'A' Ltd. shall be valued at Rs. 30,00,000 and

Rs. 1 0,00,000 respectively.

b) Rs. 5,00,000 shall be paid in cash and the balance of consideration shall

be discharged by issue of shares of Rs. 10 each at a premium ol 50o/o.

Show the calculation of purchase consideration and also state the number of
shares issued to the shareholders of 'A' Ltd.

4

4. Following information relates to Pavan Ltd.
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6. Pass Opening Entries in the books of Purchasing Company.

Purchase consideration Rs. 1,50,000.

Value of Assets as per Balance Sheet Rs. 2,50,000.

Assets taken over al 1Oo/o less than book value.

Total liabilities Rs. 1,00,000.

Liabilities not taken over Rs. 25,000.

Purchase consideration to be discharged in equity shares of Rs. 10 each.

do$:$ Eo&o$ QdddO_sdorpd dneeo aaOejrlsdtr Ddoo:O.

sDoeo g3ei dro. 1,50,000.

u6ad d$fo1:0_dd)Ja6sl&d e::lilg alJDed dra. 2,SO,OOO.

er&rl$dtr d4dd dJDerrsood ded6D l Odd*d6ab dpe)rdo dri&drageDnd.

&t$"r ?3D?Dooils;b dra. 1,00,00.

dzid)dDqF ?d)d Ea"cDoilst d.,a. 2S,OOO.

sDoe6 aJeio$db4 dro. l0d md>d, ded:i.l$O_aad€nJCd.

A Otutic6 erdi H Oarr,366 dddod Ouoddlfra9dqod dq dddli drlcbdrad;Ed.

a) 'A' Oar$a6d eJftrl$t drAJ t;6"?rJo0,1$b 4aJ$Dn dJa. 30,00,000 abd?

dra. 10,00,000 aod: dDer, dndgied.:.

b) sDoea deJo$d1 drld: dra. 5,00,000 drd: ?Dt draqdd dra. 10d d)sDsieJo$

ded:rlgd1 50% .!) ea)o$odo_ &ead dDd)d d:osd ged:d9 dndzJedr.

$OeO drodd eiaorod d:dJ 'A' Otut3c6d ded;crodOri &(ad dDAd ded:il9id

ioaldo$$4 dloeo&.
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SECTION _ C

apd -:,
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Answer any three of the following. Each question carries 10 marks. (3x10=30)

oJ>{csddn ilJa& 4,d4219d erudo&. e,g€,d{ri 10 erodd$.

7. A.N. Ltd. went into voluntary liquidation with the following liabilities.

Secured creditors Rs. 1,00,000

Preferential creditors Rs. 3,000

Other unsecured creditors Rs. 1,50,000

The expenses of liquidation amounted to Rs. 1,250, the liquidator is entitled

to remuneration at 3% on all assets realised including the securities held by

secured creditors and 2o/" on the amounts distributed to unsecured creditors

other than preferential creditors. The various assets realised is Rs. 2,10,000

(including Rs. 1,10,000 realised from securities).

Prepare liquidators Final Statement of Account.

A. N. Otut3c6 ddEod xaazooorldooarl {eaflooloa airrddraoad.

se"od saorldJ do. 1,00,000

udraa :o0rld: drn. 3,000

.add seEd d&d mOrid: dra. 1,50,000

ai8irda dqId, dro. 'l ,250. ar?irdd) DC,J-eJ1llgod uod era"o$ d)O (JQ"od

raOddr dnoad>d erarl$ d>eeJ dedaa 3 dod dld: uqad d&d xaOilorl doz3d dodd

dreej dedaa 2 dod Boqnddo$Q ddotlqd. deado doddrdrlood eed (,A,1dr

dro. 2,1O,OOO (cra"d dgrleod ddd deo{ ieodod d,o. 1,10,000)

aiErdd sogd: aado$dl dolDoA.

I
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8. The Balance Sheet of Moksha Co. Ltd. stood as follows :

Liabilities Amt. Assets
Rs-

DCBC - 401

38,000 shares of
Rs. 100 each

Debentures

Creditors

38,00,000

2,00,000

2,00,000

Land and Buildings
Machinery

Furnitu re

Stock

Debtors

Goodwill

Profit and Loss A./c

drrtu d)d) d[Jd
el

o$odgedddeazl9:

"t.redJaedddsorl9J

-*r"-o-

Amt.
Rs.

2,00,000
5,20,000

40,000

7,40,000

3,60,000

4,00,000

19,40,000

42,00,000

dJog

dJa.

2,00,000

5,20,000

40,000

7,40,000

3,60,000

a) The shares of Rs. 100 each are to be reduced to an equal number of fully
paid shares of Rs. 40 each.

b) To issue 2000 new shares of Rs. 40 each as fully paid-up to debentures
holders in full settlement.

c) The amount available is to be utilised in writing off the goodwill and
Profit and Loss Ay'c and the Balance in writing down the value of Machinery.

Give the Journal entries and prepare the reconstructed Balance Sheet.

doed dod&oJ: e6ad dgd €l d$dodod.ad.

--.-a-r..Lq)9l9qJQ)9t th, dJag er&rlcta
dJa.

dra. 100d38,000 ded:d$: 38,00,000

xaoa!,rleb 2,00,000

Faorld) 2,00,000

-7-

42,00,000

The Company is to be reconstructed as follows :



DCBC - 401

6,000 Equity shares of

Rs. '10 each

6Yo Prel. shares of

Rs. 10 each

General reserve

Profit and Loss A,/c

5% Debentures

Creditors

-8- ililllilililililffiililffi][Hflilfi

42,00,000

* d9dodod dod&o3r: uodod $dd dc3do$aobdJ.

a) 100 dra. LjeJo$ ded:i'l9d14neaFa"d.9ld dd:noadroJ: dn. 40 d0qsizJedr.

b) saod$ oadd) 2000 droB ded:rld 40 do. i'19 ded:il9Sn {OearaaaecdDR t3d)ild
.J--)--).-)-
cA)Jd(€.lcig)q!.

c) erugod)d deaddl n:oad:dd1 Edo$o:, enqj-d{arEd drioi:s:, erD9d dsado_

oJ:odg edddco dBd: dndq: erudo3/aeRierrAd.

dodooj: doear oaaDej udo0)o &d: ddd ddd s@id d,9,d udo$o.

9. Following is the Balance Sheet of AGS Co. Ltd. as on 31-03-2022.

Liabilities Amt.

Rs.

60,000

12,000

10,000

8,000

20,000

16,000

6,000

/!J N U c.J.,,/

a-".1 +-:? asJ\r.r ay - (\J9\ .rJcrs,

Assets

Fixed Assets

lnvestments

Current Assets

Preliminary Exp.

4,00,000

19,40,000

42,00,000

Amt.

Rs.

80,000

10,000

40,000

2,000

Bills payable

1,32,000 1,32,000
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Average Annual Profit Rs. 1 6,000. Company transfers 12ol" of the Profits every

year to General Reserve. Normal return on Capital employed is '10%.

Calculate the value of shares by

a) lntrinsic value method and

b) Yield method.

665aod 31-03-2022 dod: AGS dodood: ut) aidJs,JDo dtSoi) dddodo.Bd.JOgJ

t3srDorlrt dJad QrArlet drodoJ

dJa. dl..

dra. 10d 6,000 mdJadd Sedrrlsb 60,000 ,s6o?lrld)

d,a. 10d derod> de. 6 udrd ded:rlst 1 2,000 d,aaddst

xadndr 0Q

o6-ddaod
t3d cr&rl$)

80,000

10,000

40,000

2,000dodrzDa dz3rldJ
,-3

de. 5d me.rd$rld: 20,000

q)rdr rY\, 16,000

doddeaod dJoadSJ 6,000

1,32,000 1,32,000

iurio do&Fd err?i dra. 16,000. no{olr: de. l2ddleraCJdq xadnd, tueio7i

draroo:iod srqD6Bd$4 d,aQtudraoad. Ooe8tud eDCd dd 1 0% (dJadR:d uodaadd

d>ed) Oed sadnd, ded;rl9 #OreddeodQ* ddnd aqadrld0-dod)&ao0ro.

a) erodod #errd apd ildl
b) erudd #e.rrdaead.

10,000

8,000
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10. A Ltd. agreed to Purchase N Ltd. on 31-3-2022 and agreed to take over the

assets (except cash and goodwill) al 10"/" less than the book value and to pay

Rs. 1,60,000 for Goodwill and to take over the Debentures.

Following is the Balance Sheet of N Ltd. as on 31-3-2022.

Liabilities

4,000 Equity Shares of

Rs. 100 each

Amt Assets

Rs.

Goodwill

4,00,000 Land and Buildings

Amt

Rs.

1,00,000

3,00,000

General reserye 1,40,000 Plant and Machinery 1,66,000

5% Debentures 2,00,000 Stock 70,000

Creditors 60,000 Billsreceivable 9,000

55,000

Cash @ Bank 1,00,000

8,00,000 8,00,000

The purchase consideration was to be discharged by the allotment of 3,000

shares of Rs. 100 each at a premium of Rs. 10 per share and the balance in

cash.

Prepare Realisation Ay'c and Equity shareholder A/c in the Book of N Ltd.

N 00$tu9 dodQol) dd drdoadddtr'A' doderi 31-3-2022 dodr d)Duro

d;aBdJ6rd. 'A' dod0oJr: acrn_ s&rl$dJ4 drfd:dooad (dzld;, Ee.grdJDer,

dododatsr). dddd ?,ieio$ de. 10dd,r,: dadriJa9tu, 3e.9F#Dsda)6n d,o. 1,60,000

dnt"lr raodg i19$n drid:dood) droend.

Debtors
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xadJadd &Q

5% a-ae.td$rl$c

Ee,9rdPe.
?)

d.otu d)dJ d[3d
eJ

oJ:odgedddra

DCBC - 401

1,00,000

3,00,000

1,66,000

70,000

N Ltd.

Rs.

1,40,000

2,00,000

N Ltd. Assets

Rs.

-11-

Oedrto*tp ad'A' dodooj) eeEd dgd bend.

E-.- AJ..ar(ic^loGJCJ !,/r IYJ dJod er:JdSJ
Q

4,000 rDdDdd ded:d$.:4,.c deorl

dn.100 dod 4,00,000

cilJar{,

dJo.

60,000 rJddd d)oa
n

55,000

?rJdoSdO_a3ild) 1,00,000

8,00,000 8,00,000

'A' dodDob dood eie3od:istr N dod&ri dto. 100d 3,000 ded:rl9Q 6.a geori

dJo. 10 dqj,l dotr*wed deadQ drioaR drous*,d.

N Oart3cs6d d{ddO_aa{ad aad d:d: xad>d, dedraadd aDdo$dl do3Dotu.

1 1 . On 1-4-2022 H Ltd. and N Ltd. were amalgamated into 'A' Ltd. on the basis of

the following Balance Sheet.

Liabilities H Ltd.

Rs.

H Ltd.

Rs.

Paid-up Capital 4,48,000 3,50,000 Goodwill 1,60,000 64,000

Creditors 10,000 12,000 Buildings 1,00,000 1,20,000

Reserves 16,000 24,OOO Plant 82,000 20,000

9,000
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Profit and Loss A,/c 22,OOO 8,000 Stock 84,000 66,000

Debtors 46,000 80,000

Cash 24,000 44,000

4,96,000 3,94,000 4,96,000 3,94,000

Additional lnformation :

a) Buildings of both companies to be written off by 10%.

b) Provide 5% RBD on Debtors of both the companies.

c) Goodwill to be valued at Rs. 93,000 and Rs. 30,000.

d) The entire amount of purchase consideration was discharged by the allotment

of shares.

e) 'A' Ltd. agreed to take over the remaining assets and liabilities at book value.

Calculate the P.C. and prepare necessary Ledger Accounts in the book of

H Ltd.

odiod 1-4-2022 dodt H Otuo3c" drQ N OtutJc6 aoedri.,ood)'A' Otudd

ra&rldd). dod0d$ sead d9ii ii9dodo8d.a-
z3-"sDod$b HLtd. NLtd.o 

dr?. dJo.

&raF mdgtud uodaa$ 4,48,000 3,50,000

eJerJrioadd:

--lF-l 
c\A

.,lUcNgNd N(y'

10,000 12,000 dEsdlld) 1 ,00,000 1 ,20,000

16,000 24,000 82,000 20,000

(rAriq) H Ltd.
d/a.

1,60,000

N Ltd.
dJa.

64,0006e9r#e;,

Q

o$-d{sad 22,000 8,000 84,000 66,000
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4,96,000 3,94,000

delddnbgdct:
al

a) 2 dodOod: dqdd9O- de. 10 dBdrioenrddr.

DCBC - 401

derdrioadd: 46,000 80,000

dI IG)J 24,000 44,000

4,96,000 3,94,000

-13-

b) 2 dod&rl9o_ de. 5 er$drrdd;JDeaaR dOd,gF$d)d:.

c) Ee€r#e.rrdd.I dro. 93,000 d)& 30,000 g,dr6?n ejei duDJd&.

d) io{pear sDoea zJeioJJde ded:r190_ ed, drdosBrdd.

e) en:ed er& dJdg s3dJ?rJoorlgdJ4'A' Otuc366 dodDob d)]$ aJeJc$O_

JJ-)-J-^r-JJI r l(JJOJdVJ!9 (J.

e)oeo djDedddlodro:, aazin H dod&o$ C{dr1gO_ezEred:d aadrlgdl ddouo.

SECTION - D

DqD,l - B

Answer any one of the foilowing sub-question. The question carry g marks. (1ng=g)
ddnd erud-€,qd$O_oJ>gooddn z"od{ wdoe. 6d*c1l),8 erodrlddl dooo$dd.

12' Carcurate the amount of preferentiar creditors from the fo[owing information:
1) lncome tax payable Rs. 10,000.

2) Salaries and wages payable to 10 workers at Rs
3 months.

3) Remuneration to officers Rs. 2,00,000

20,000 per month for last
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4) Compensation under the Workmen's Compensation Act, 1928 inrespect of

death of an employee Rs. 15,000 is due.

5) Amount due to an employee from a Provident fund for the welfare of an

employee maintained by the company Rs. 15,000.

dddod adoS:zlgod udrd me.rnodd deaddl dod:eaobo.

1) dndaieuad eJ6)o$ dori dra. 10,000.

2) 10 ad de.tinedOri Sorlgri dn. 20,000 dod 3 Sorlgod dodzier-od ioud.

3) sQ6)o7ie7i iopdd do.2,00,000.

4) foturdd do6"d aoo3:o 1 928d {,aad t-u", wdgen Dd{&q d06?d dra. 1 5,000.

5) dodpo3: atuFEd OQobod ru,erudorehri dndzjer-od dra do. '15,000.

OF/erSa:a

Likith Ltd. resorted to internal reconstruction. The scheme was as under :

1) 8,000 Equity shares of Rs. 10 each fully paid to be converted into 4,000

Equity shares of Rs. 5 each fully paid.

2) 400 12o/o Prel. shares of Rs. 100 each fully paid to be converted into 4,000

Equity shares of Rs. 5 each fully paid'

3) 600, 15% Debentures of Rs' 100 each to be discharged by the issue of 8'000

Equity shares of Rs' 5 each fully paid'

4) The amount so available be appropriated to write otf the following'

Profit and Loss A'/c (DQ Rs' 4O'OOO' Goodwill Rs' 20'000' Machinery Rs' 15'000'

PrePare CaPital Reduction A'/c'

-14-
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Os0s6 Otus3a6 e:odod OddOd>ruofudoddoeo$dJ. * o3oea;do3:: dr d9dodo86.

1) do. 10d 8,000 xadnd, Eed:rldabo io{pearaah aDd.gt,d den dn. 5d 4,000

xad>d, Eed:ris)"R dod8rior$d d.

2) 4OO, 12"/" d!a. 100d edrdo3: ded:ii9ibo io{pearoai aadetud den dn. 5d

4,000 rad>d, dedrzlqnn dodgriorbdd.

3) dJo. 100d 600, 15% me.:d$d9d1den dJa. 5d 8,000 rad>d, ded;dd

adddosrod zed>,ld dDd$rbdd.

4) beri e{6adrd dradddtr * d9nddrlddA dad> d>dq: udxrd.od;Jedo.

entJ-d4.and (D0 dn.40,000, Booadc - do.20,000, ol:odgedddeorl$c

do. 15,000

ood;od dad aDdo$dtr dolDo,Pr.

-15-


